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Attempt all the five questions. One question from each g
Unit is compulsory. All questions carry equal marks. =
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Com. (Part 1) EXAMINATION, 2019

(Group—1: Accounting)
Paper Second
BUSINESS MATHEMATICS
Time : Three Hours
Maximum Marks : 75

Sx? +2xy +3y? =1
Differentiate with respect to x :

5x2 + 2xy +3y% =
AT y=2x3-15x2 +36x+11 @ TJTHAH T
et e @ el - 8
Find the maximum and minimum values of the

function y = 2x® - 15x? + 36x +11.
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If log,y2 = 0.3010 and log,, 7 = 0.8451, find the

value of the following :
lcg%—S
@ fr=ifee & 99 oo $ife 10

2

(7.62)3 x ¥0.347

Find the value of the following :

et | bt

» 2

(7.62)3 x Y0347
FHE—2
(UNIT—2)
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-13 3 23
-30 -7 53
39 -9 -7p BEEE

-

Find the value of the following determinant - \

=13 3 23
=30 -7 353
3% -9 70
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0 4 3
@ IR A=| 1 -3 -3[&, @ A2 @ AR

-1 4 4
10

0 4 3
IfA=! 1 -3 -3, find A2-1.
-1 4 4

k)
(Or)
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2x-y+22=9
x+y+z=6
~Iy+z=-1
Solve the following equation using matrix
2p-y+2z=9
x+ytz= 6
Jy+z=-1

T3

| (UNIT—3)
3 (@) Eo A TS, 20w 1D RES 1:3: 8 I
¥ §) qo femex 2 380 G @ Ried €| 9We
TER @ fyed! @ GEn 9| B | 5

The coins of ¥ 5, T 2 and ¥ 1 denomination in a bag
have a ratio of 1 : 3 : 8. In the aggregate the cains
are worth ¥ 380. Find number of each cash

denomination.
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21 32 52 12 10
70 33 45 62 15
45 15 75 27 20
8 12 13 12 45

Solve the following transportation problem (Initial

basic feasible solution) (lowest cost method) :

Factory
from

Requirement 8§

WWWWaﬁ

Cair
SfrFT Fifv -

Warehouse to

woow, W, s Available
21 32 52 12 10
0 33 45 62 15
45 15 75 27 20
12 13 12 45‘
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X +2x; < 720
Sx +4x, <1800
3x +x, <900
o x,x 20|

Solve the following Linear Programming problem by
Craphic method :

Maximize :
z = 80x, +100x;
Such that -
X +2x, <720
5x +4x; <1800
3x + x; <900
and X,% 20. .
TPHE—4
(UNIT—4) ’

U R A e ?F g W @ 10 9F A 15 7f @ &
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A man left € 2,500 for his two sons aged 10 years and

15 years, with the direction that the sum should be

divided in such a way that the two sons get the safne
ge of 30 years. Assuming
per annum.

amount when they attain the a
that the rate of compound interest is 5%

Calculate, how much the younger SsOn got in the
beginning. 15
I
(Or)
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TR TR fewl F fm o ) afy w B R 5%
affe o), o 9\ &1 g e | S| 15

A machine is purchased on instalment basis such that
Z 5,000 are to be paid on signing to contract and the
balance in 4 equal annual instalment of ¥ 3,000 each. If
interest is charged at 5% per annum, find the cash down
price of the machine.

TS .

(UNIT—S)

5. () R Gt ¥ ¥ wyw a9 @t s 30 @ ofv ok

d @ Al 32 &1 IR e w38 @, a g
e §r i | 5
Of the four numbers the average of the first three is

30 and of the last three is 32. If the last number is
38, find the first number.
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(@ WIEA AT FUA BT 35% TN @ @ 2| A @

30%, 25% T9 25% 91 A9 F=I1 B o &) 9
€M BT 90% T B T o7 B UvA Y IS
o % 6,500 ¥9d €, T AiEA A 37w g A
10
Mohan gives 35% of his savings to his wife. 30%,
25% and 25% of the remaining gives to his three

children. 90% of the remaining gives to a hospital
still he has ¥ 6,500, find his savings.

T -
(0r) -

fiwar @1 T B3 W 10% SEVE TAT T 5,000 §

atE P R W 6% W fierer &) afr 9w

FHE T 2,600 Yra g B, o 99 fRem amwen

978 Fa Py | 5

A salesman receives a commission of 10% on the
gross turnover and bonus of 6% on the sum
exceeding T 5,000. If he gets T 2,600 as commission,
find the amount of bonus.

WF TGS ACRERed 3 il 0 W 25% ITER
R Rt 209% amree wvar & o s) ufy
drexAEfhd ¥ 5,000 @ @M R 8, @ Aew-
wEfa a1 W = wwEe 10

A manufacturer allows a discount of 25% on the list
price of a motorcycle and after this eams a profit of

- 20%. If the profit on one motorcycle is T 5,000, find

its list price.

3D—2l]l]-§ 11,200

(A-54) |
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